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And Rabi Yochonon; where he put it down  — 7R 77IR72 337710 92

OVERVIEW

The X723 explains the 7awn according to °"1 that the dog put down the nra on the
w73, where the 29371 %v1 is liable to pay a w"1 for the damage to the' nomam a3pn and
a 1"n for the rest of the burnt w>73.> Our M5 explains why the X3 did not offer
an alternate explanation.

Mmoo anticipates a difficulty:
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The X123 did not want to say that the dog threw the nn3 and therefore the 9va
2501 is liable to pay a 1" for the entire @73 (even the noman opn) —

mooIn responds:
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For if we maintain that w2 1> is not like 12, the 29577 5v2 would then be =1wp
for the rest of the w7 (outside the n>nam opn), for that would be considered 2 1io.

SUMMARY
If 12 11 is not like 112 and the dog threw the n>m3 on the w73 he would be Mo for
the rest of the w>7x (besides the nonan opn).

THINKING IT OVER
The query of *wX 21 was only according to 19m10; however according to the 1127 it
seems that 175 113 is like 112. How are we to understand our noomn?!®

"It would be considered P*T7w 1 in a normal manner for which he liable to pay a w"a.

? Since x1 oWwn WX it would be considered M 1% of the dog for which one is liable to pay a 3'7.

? The advantage of this interpretation is that we do not distinguish between the n>rx1 2p» and the rest of the W™,
which is not indicated in our 73w, but rather it states 1" w737 991 (meaning for the entire w>73).

* 1> means MM¥ where the animal flung pebbles while walking and the pebbles broke a utensil. > 12 means
where the initial N1717X caused secondary 117X (the pebbles hit a rock and flung it) and the secondary n17% did the
damage. In the case of the w7, if it was >»7X 77X then the place of where the n7m3 landed and damaged is
considered 115, the damage that was caused by the spreading of the fire from the n%nx7 01pn outward is 12 no.

> On the X, there was a query posed by “wx 21 whether (according to 01910, who maintains that M11% or 112 pays a
w"1) 12 13 is like 12 (and pays a w"1) or not (and it pays a 1"1). See “Thinking it over’.

%1t is easier to interpret the mawn that the 1'1 is (only) on the w737 "KW than to say that the 1"n is only on the Dp»
non.

7 See footnote # 5.

8 See 7N *wAon XN # 80-87.
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